

1. פתרון כללי

$$\lim_{x \rightarrow \frac{\pi}{2} + 0} \ln(x - \frac{\pi}{2}) y(x), \quad \lim_{x \rightarrow \frac{\pi}{2}} |x - \frac{\pi}{2}|^{\frac{3}{2}} y(x)$$

כאשר  $y(x)$  פתרון של

$$\cos^2 x y'' + \frac{1}{2} \sin(3x - \frac{3\pi}{2}) y' - \frac{1}{2} y = 0$$

כאשר  $x = \frac{\pi}{2}$  נקודה מסוג  $\infty$  עבור  $y(x)$ .

2.  $x = \frac{\pi}{2}$  נקודה מסוג  $\infty$  עבור  $y(x)$ .

$$\lim_{x \rightarrow \frac{\pi}{2} + 0} (x - \frac{\pi}{2})^{-\frac{1}{2}} y(x) = 1 \infty \text{ אכן} \quad \lim_{x \rightarrow \frac{\pi}{2} + 0} (x - \frac{\pi}{2})^{-\frac{1}{2}} y'(x) \text{ נגזרת, } \infty$$

$$\lim_{x \rightarrow +0} x^{-\frac{1}{2}} y(x), \quad \lim_{x \rightarrow +0} x^{\frac{2}{3}} y(x) \quad \text{נגזרת } \infty$$

$$x^2 y'' + 4 \sin \frac{x}{2} y' - 2y = 0 \quad \text{פתרון כללי } y(x)$$

$$y(x) \neq 0 \text{ עבור } x > 0$$

3. פתרון כללי עבור  $x \rightarrow \infty$

$$y'' + y = 0$$

$$x^2 y'' + x y' - 4y = 0$$

$$(1-x^2)y'' - 2xy' + \alpha(\alpha+1)y = 0 \quad \text{Legendre}$$

$$y'' - 2xy' + \lambda y = 0 \quad \text{Hermite}$$

$$y'' - xy = 0 \quad \text{Airy}$$